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2021 Roll No:
INTERMEDIATE PART-II (12th CLASS) (SPECIAL EXAMINATION)

MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours

SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer book,

(i)
(iii)
(iv)
RO
(v
(vii)
(viii)
(ix)
x)

(xi)
(xii)

(i1)
(iii)

(iv)

(vi)
(vii)
(viii)
(ix)
(%)
(xi)
(xii)

as given in the question paper.

SECTION-I
Attempt any eight parts. 8x2=16
Find domain and range of /™' (x) if f(x)=+x+2
Evaluate Lim s%nax
x - 0sinbx

Evaluate Lim (1 - 2}1)}/"I
h—0

P LU0F ”; =48 £x)=conx

find derivative of " by definition.

Jx

2

} . x“+1
Differentiate
x“-3

w.r.t. x

. . 1
Differentiate x2 — —2-w.r.t. T
X

o B "
Find = if x = ysin y.
P ysmy

Find i if y= ch!.’lr*cl
dx X

Find y, if y=x+——
X

=

Differentiate sin™' /1 — x?

w.rt. x
Determine the intervals in which” fis increasing or decreasing if f(x) =cosx x € (—” X %)
Attempt any eight parts. ' ' 8x2=16
i
Use differentials to approximaté'the value of (31)°

2
Evaluate jg:—ji_{)—-&c
»

Evaluate ___S_Ef_z___dg
L+ cos“ @

Evaluate jtm“lx dx
£
3
Evaluate |cost df

i
6

Find area bounded by the curve y = x* + 1, the x —axis and line x = 2

Evaluate J.e"[fl-»+£nx]dx
-
Evaluate I R = de (a>b)
(x-a)(x-b)

Find distance from the point P(6, —1) to the line 6x -4y +9=0
Find an equation of the line through (5, —8) and perpendicular to the join of A(~15, -8), B(10,7).
Transform the equation 5x — 12y + 39 =0 into (i) slope-intercept form  (ii) two-intercept form.

Find distance and mid point of the join of 4(-8, 3), B(2, -1)
P.T.O.
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(2) :
4. Attempt any nine parts. 9x2=18

(1) Graph the solution set of 5x — 4y <20

(ii)  Find the centre of 4x*+ 4y> — 8x +12y - 25=10

(i)  Find an equation of the circle with ends of a diameter at (-3, 2) and (5, —6).
(iv)  Find the equation of normal to the circle x*+ y*=25 at (4, 3)

(v)  Find directrix at parabola x> = 4(y = 1).

(vi)  Write equation of parabola with focus (-3, 1) and directrix x =3
(vii)  Find the magnitude of the vector u =2i -7 J

(viil)  Find a unit vector in direction of the vector v = 2i — J

(ix) Find‘Sy-kElfor v=3i-2j+2k w=5i-j+3k

(x) Find the direction cosine of vector v =i - j - k

(xi)  Find a vector whose magnitude is ‘4’ and is parallel to 2i — 3/ + 6k .
(xti) If a+b+c=0,thenprovethat axb=bxc=cxa

(xiii) ~ Prove that the vectors i —2j + 3k, —2i+3j — 4k andyi - 3/ + 5k are coplanar.

SECTION-II

NOTE: Attempt any three questions. 3 x10=30
N2x+5-\x+7 |
5(a) If f(x)= - AL Find value of k sothat f iscontinuousat x =2
k N ch

2
(b) Differentiate Sec“'[x2+1] wertl %
x —

X
6.(a) Evaluate J‘_xe__{
(1+ x)
(b)  Find equations ofitwo'parallel lines perpendicular to 2x — y + 3 = 0 such that the product of the
x— and y - intercepts of each is 3.

7. (a)  Find the area between the x —axis and the curve y =4x - xZ.

(b)  Graph the feasible region of the following system of linear inequalities and find the corner points
2x -3y <6, 2x + 3y <12, x20, y=20

8.(a)  Write an equation of the circle that passes through A(5,6), B(-3,2), C(3,-4)

by If Ié = EB , find the co-ordinates of the point 'A' when points B, C, D are (1, 2), (=2,5)
and (4,11) respectively.

2 3
9.(a) Showthat cos(x + h)=cosx — hsinx — —;cosx + Fsinx 4 ———=

(b)  Find the eccentricity, the coordinates of the vertices and foci of the asymptotes of the hyperbola.
2 2
yooox

16 49
SE-142021- 2950 (MULTAN)
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Paper Code

Number: 4 1 9 ].

2021

MATHEMATICS PAPER-II
OBJECTIVE

Roll No:

INTERMEDIATE PART-II (12 CLASS) (SPECIAL EXAMINATION)

TIME ALLOWED: 30 Minutes
MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on

this sheet of OBJECTIVE PAPER.

Q.No.1
(1) If g(x)=—, (x#0) then gog(x)=____ @1 ®x ©Ox O %
% x
(2)  The function f(x)= 23 = is function.
x“+1
(A) Even (B) Odd (C) Both even and odd (D) Neither even nor odd
(3) If y= sinh2x, then 9. o
(A) 2cosh2x (B) —2cosh2x (C) cosh2x (D) —cosh2x
@ L(xr2)=
1 ¥ 1 2 3 1
A) — 2)72 B C) - 2)72 D)=
()2(x+) ()zm ()3(36"}') ()zm
2 ey 2x 32J7 ez‘fy el
® L= @ @ - Q) @Y
2 3
6) l+x+ ] + %1- + ———— is Maclaurin series of: (A)(sinx \(B) cosx (C) fnx (D) e*
2 2
(7) Fl"fdx = @A) (tmyt+c gBPW.. O T,
- 2 2 2
2
(8) Je‘“dx: (A) e“E+e, B)inx+c (C) x*+c (D)-%—+c
(9) J.sinx cosx dx =
- Y o
(A) 5“’2 g (B) - S“‘z 7 (©) —;—sin2x +c (D)cosix+c
(10) Ixe‘dx -
(A) xe*-e"+¢ (B) e*—xe*+c¢ C)e*+x+c¢ D)e*-x+c
(11)  Intercept form ofiequation of line is:
(A) =+ =0 ®=+Z=1  (©Qy=m+c D) y-y=mx-x)
a b a b
(12)  The distanegof a point ( 3, 7) from x-—axisis: (A) -3 B)3 () -7 (D) 7
(13)  The slope of the line through the points (-2, 4) and (5, 11) is: (A)-1 B)0o ()1 (D)2
(14) (3, 2) isnot solution of the inequality:
A)x+y>2 B)x-y>1 O 3x+T7y>7 (D)3x~-7y<3
(15) The centre of circle (x —1)*+ (y +3)* =3 is:
(A) (~1~3) (B) (-1, 3) © 1,3) ®) (1, -3)
(16) The focus of parabola y? = 4ax is:
(A) (0, a) (B) (0, -a) (©) (a,0) (D) (—a,0)
(17) The radius of circle x?+ y*+2gx + 2/ + ¢ =0 is:
(A) Vg*+ [P+ B)Vg’-f1-c  (©f*-g'-c D) g'+ fi-c
(18)  2j-(2kx i) isequal to: (A) 0 (B) -4 ©4 O 1
(19)  The direction cosines of u =i + j + k are:
1 1 1 I 1 1 1 1 1 1 ]
(A m! ‘—_3_ B ——!—3_ C _3_———!—_— D _,_’__
"FrEs P EE 9 En PEE S
(20) If 5i-j+kand ai+ 3j — 3k are parallel then & = ? A)-3 @B)-15 )15 (D)3

SE-14(Obj)(¥€)-2021-2%” (MULTAN)
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2021 Roll No:

INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)

TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1

(D

The radius of circle x?+ y* +2gx +2fy + ¢ =0 is:

A) g+ e ® Jei-fi-c (O -g-c g+ rP-¢

(2)  2j-(2kxi) isequal to: (A) 0 (B)-4 ©4 @D 1
(3)  The direction cosines of u =i + j + k are:
1 1 1 1 1 1 1 1 1 1 1 1
A) B L B L B T T o C e T (D) s TS T
NErEE O TFEE 9B EE VFEEH
(4) If 5i-j+kand ai+3j -3k are parallel then & = ? (A)-3 B)-15%C) 15 (D) 3
(5) 1fg(x)=—5, (x#0) then gog(x)= @1 ®F Lo O Y
x x
(6) The function f(x)= 23 2 1 is function.
x°+
(A) Even (B) Odd (C) Both even and odd (D) Neither even nor odd
(7) If y= sinh2x, then Y
(A) 2cosh2x (B) —2cosh2x (C) cosh2x (D) —cosh2x
d
8) -d—x-(\/xﬂ“l‘)=__,__
1 ¥ 1 2 % 1
A) —(x +2)? B O (ot 2)"2 D) -
()2(26 ) ()zm ()3(x ) ()z\fm
4 2y 2Vx ez‘f;/ 62J7 D Pl
O L) - WY ® Y o @Y
2 3
(1) 1+x+ el + J;—l + ———— is Maclauzin series of:  (A) sinx (B) cosx (C) énx (D) e”
" 2 2
ay [ - (A) torls)? + ¢ (B)(‘l;)—m (C)%””‘H (D)-(f";) re
» x
. 2
(12)  |e™™dx = A e™+¢c (B)fmx+c (C)x*+c (D) %+C
(13) .sinx cOsx dx =
. 9 .2
(A 2N, @By =2 b IO %sin2x+c (D) cos x + ¢
(14) jxe"dx =
(A) xe* —e*+ ¢ (B) e*—xe*+c C)e*+x+c (D) e*—x+c
(15) Intercept form of equation of line is: ‘
@A Z+d=0 ®) = +Z=1 © y=mx+c (D) y-y=mx-x)
a b a b
(16) The distance of a point ( 3, 7) from x—axisis: (A) -3 B3 (C -7 (D) 7
(17) The slope of the line through the points (-2, 4) and (5, 11) is: (A)-1 B0 ()1 (D)2
(18) (3, 2) is not solution of the inequality:
(A x+y>2 B)x—-y>1 C)3x+7y>7 D)3x-7y<3
(19) The centre of circle (x —1)* + (y + 3)? =3 is:
(A) (-1,-3) (B) (-1,3) © (1,3) D) (1, -3)
(20) The focus of parabola y* = 4ax is:
(A) (0,a) B) (0, -a) (€) (a,0) (D) (-a,0)

SE-14(0bi)( TX ¥X)-2021-2940 (MULTAN)
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Paper Code 2021 Roll No:
Number: 4195 | INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

Note:

Q.No.1

(D

2

3)

4
®)
(6)

(7)

)

(€))
(10)
(11)

(12)
(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

OBJECTIVE MAXIMUM MARKS: 20

You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

v.Asinx cosx dx =
sin? x sin? x 1

(A) Sk (B) - > (C) Esin 2x + ¢ (D) cos’x + ¢

J.xe’dx =

(A) xe*—e*+¢ (B) e*—xe*+¢ C)e*+x+c D)e*-x+c¢

Intercept form of equation of line is:

() Z+2Z=0 B)Z+2=1  (Qy=mx+c (D) y=y=mx-x)

a b a b

The distance of a point ( 3, 7 ) from x-—axisis: (A) -3 B) ¥ C)s7 (D) 7
The slope of the line through the points (-2, 4) and (5, 11) is: A-4H B)0 ()1 (D)2

(3, 2) is not solution of the inequality:

(A) x+y>2 B)x-y>1 (C)3x+2y>7 (D)3x-7y<3
The centre of circle (x —1)?+ (y +3)* =3 is:

(A) (-1,-3) B) (-1,3) (O(h3) D) (1, -3)
The focus of parabola y* = 4ax is:

(A) (0,a) B) (0, —a) (C) (a, 0) (D) (-a,0)

The radius of circle x*+ y? + 2gx + 2 fy. 4% = O\is:

(A) Vg*+ fi+e B) Jg2-W - (© P -g*-¢c D) Jg*+fi-c

2j - (2k x i) isequal to: (A) 0 (B)—-4 4 O 1
The direction cosines of u =i + j'% & are:
I 1 & P11 1 1 1 1 1 1

(A B ot B = R B = = = (C) G e — R (D) = T T T

" FEE SNV GFFEBE OB RSB VBE B
If 5i— j+k and aiy+ 3j* 3k are parallel then a =? A)-3 B)-15 (15 D)3

1
If g(x)=—%x % 0) then gog(x)= w1 ® O OV,
x X
The fungtion Fx) = —>— is finotion.
x“+1

(A) Even (B) Odd (C) Both even and odd (D) Neither even nor odd
If y = sinh2x, then ii—dxyz
(A) 2cosh2x (B) —2cosh2x (C) cosh2x (D) —cosh2x
L=
dx

1 A 1 2 k4 1
A) —(x+2)2 B C) =(x+2)? (D) -
()2( ) ()2f—ﬂx+2 ()3( ) NrrT
d , 2% o 2J7 2J7 2/x
= - B) € ) e D) €
e Can EI W ® @ @y

2 3
1+x+%+%+————isMaclaurinseriesof: (A) sinx (B) cosx (C)4fnx (D)e”
2 2

F—mdx:__ (A) (bnx)? + ¢ (B)(—E—r;f—)-+c (C)f’;im (D)—(ﬁ;)-—w

x

2
(A) e™+¢c B)fnx+c (C)xi+c (D)%H

SE-14(0bj)(ﬁ~£fﬂ')-2021-'2—‘%'0 (MULTAN)
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Paper Code 2021 Roll No:
Number: 4197 | INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
d ol _ o 3id5 2J7 2J7 2Jx
O o R W ® e - o oy
.
2) l+x+ % + 2—‘ + ———— is Maclaurin series of: (A) sinx (B) cosx (C) fnx (D) e”
. 2 2
3) Jﬁnﬁdx = @ re - ®EY i i o-E,,
X 2 2 2
2
4) J'ef'“dx ” A) e"™+c (B) fnx+c (C) ¥+c AD) ?—‘2— -

(5) Isinx cosx dx =

2

BAY -t 4 p LY s ©) Lsin2x + c N Pos? 2 + ¢
2 2 2

(6) jxexdr —

(A) xe*-e*+¢ (B) e*—xe*+¢ (C) ef+ x+%c (D)e*-x+c¢
(7)  Intercept form of equation of line is:

A) Z+2= B =+2=1 oY yPmxrc D) y-y=mx-x)

a b a b

(8) The distance of a point ( 3, 7) from X-—aXisis: (A) -3 3 (© -7 (D) 7

(9) The slope of the line through the points (-2,4) and (5,11) is: (A)-1 B0 (©O1 (D)2
(10) (3, 2) is not solution of the ingquality:

A x+y>2 (B) x&~ yi>1 C)3x+T7y>7 D)3x-Ty<3
(11) The centre of circle (x — 1%+ (3 +3)* =3 is:

A) (-1,-3) B) (-1,3) © (1,3) D) (1,-3)
(12) The focus of parabola y2=4ax is:
| (A) (0,9 (B) (0, -a) (©) (a,0) (D) (-a,0)

(13) Theradius'of Gircle x*+ y*+2gx +2fp +c =0 is:
(A) gt Pud+ ¢ B) Vg’ - -c (©f*-g'-c D) g'+fi-c
(14) 2j-(2k%3) isequal to: (A) O B)-4 4 @O 1
(15) The direction cosines of u =i + j + k are:
1 1 1 1 1 1 1 1 1 1 1 1
YrErr O FEs O°FFr PFES
(16) If 5i— j+k and ai + 3j — 3k are parallel then a =7 (A)-3 B)-15 (©) 15 (D)3

an It g(?f)=—l—-, (x#0) then gog(x)= a1 ®ms ©Ox oY,
x? x
(18) The function f(x)= 3 X s function.
x“+1
(A) Even (B) Odd (C) Both even and odd (D) Neither even nor odd

(19) If y= sinh2% then %:

(A) 2cosh2x (B) —2cosh2x (C) cosh2x (D) —cosh2x

) S(xF) =

A) —;-(x +2)7 @) —m

20x +2

1
2.x +2
SE-14(Obj)(TE YE T v¢)-2021- 2942 (MULTAN)
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